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7 int main({
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return 0O;
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#include <stdio.h>

int main(){

int input, output;
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scanf ("%d", &input);

output = input * 2;

printf("input x 2 = %d\n", output);

return O;
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reward = bandit(select_arm);
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/*******************************************************
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#include <stdio.h> /* Y ATFLADOHE LA x/
#include <stdlib.h> /*x VAT ADOHE LT8R */
#include "bandit.h" /* Z—FNHEBE LN T v FEEHE */

int main(){
int select_arm;
int arm_num;

double reward;

init_bandit(; /x ST 4y hOIIE */
arm_num = get_arm_num(); /* /N2 T v NBFFOBIOKAE TG */

/% NUT 4y RORBEOZER */
printf ("3 F Y FOBEOEFFEBR LT SV [1-%d] : ", arn_num) ;

scanf ("%d", &select_arm);

/¥ NUT 4y NEE */

reward = bandit(select_arm);
printf ("fERIL %1f DA 2T T \n",reward) ;

return O;
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